Conseil International du Sport Militaire



36^e Championnat du monde militaire de volley-ball masculin 19^e Championnat du monde militaire de volley-ball féminin

International Military Sports Council



36th World Military Men's Volleyball Championship 19th World Military Women's Volleyball Championship

DAILY BULLETIN #4

1. Reminder of No Smoking

This is a reminder for all persons staying within barracks on base during the tournament; there is to be No Smoking within any of the buildings located at CFB Edmonton. It has been noted that persons have been smoking specifically within Building 222, and this is considered a No Smoking Zone. Any persons wishing to smoke, must be outside of the building, and cleared away from the entrance.

2. Information Links online

Information pertaining to this current CISM event can be found at the following websites:

www.milsports.one

and

https://www.cafconnection.ca/National/Programs-Services/For-Military-Personnel/Military-Sports/CISM-and-International-Sports/CAF-CISM-Events/CISM-Volleyball.aspx

3. Ranking after first round

| ME | N'S |
|---------|---------|
| Pool A | Pool B |
| 1 - CHN | 1 - BRA |
| 2 - KOR | 2 - GER |
| 3 - CAN | 3 - FRA |
| 4 - NED | 4 - USA |

| WOM | IEN'S |
|---------|---------|
| Pool A | Pool B |
| 1 - BRA | 1 - CHN |
| 2 - GER | 2 - FRA |
| 3 - CAN | 3 - USA |
| 4 - KEN | |

4. Match Schedule

| Thursda | y 31 May | |
|----------|----------|--|
| M13 | 15h30 | 3 rd Pool A - 4 th Pool B (Semi 1) CANADA – UNITED STATES |
| M14 | 19h00 | 3 rd Pool B - 4 th Pool A (Semi 2) FRANCE - NETHERLANDS |
| Friday 1 | June | |
| | | |
| | | |
| M15 | 15h30 | 1st Pool A - 2nd Pool B (Semi 3) CHINA – GERMANY |
| M16 | 19h00 | 1st Pool B - 2nd Pool A (Semi 4) BRAZIL - KOREA |

| Thursda | ay 31 May | |
|----------|-----------|---|
| W10 | 15h30 | 4 th Pool A - 3 rd Pool B KENYA – UNITED STATES |
| | | |
| Friday 1 | June | |
| W11 | 10h00 | 1st Pool A - 2nd Pool B BRAZIL - FRANCE |
| W12 | 13h30 | 2 nd Pool A - 1 st Pool B GERMANY - CHINA |
| | | |
| W13 | 19h00 | 3 rd Pool A - 4 th Pool A CANADA - KENYA |

5. Registered Colours

CITY: EDMONTON - CANADA

REGISTERED COLOURS
(ONLY SHIRT COLOUR)

D M Y
TIME H Min TEAMS

POOL/PHASE: MEN'S

1
2
3

| | MATCH | SCHEDU | LE | | | TE | AMS CHOI | | CICME | ECISION | | | |
|----------|-------|----------|-------|--------|-------------------|--------|----------|--|------------------------|---------|--|--------------|---------|
| DATE: | No | Team | | Team | 1 st C | CHOICE | | | 2 nd CHOICE | | | CISIVIL | ECISION |
| DATE. | INO | Α | | В | Α | Α | | | Α | В | | Α | В |
| 31 May | M13 | CAN | | USA | Red | | Red | | Black | White | | Black | Red |
| 31 May | M14 | FRA | | NED | Red | | Or/blue | | - | Blue/or | | Red | Blue/or |
| 1 June | M15 | CHN | | GER | Red | Red | | | Green | Black | | Red | Black |
| 1 June | M16 | BRA | | KOR | Dark b | | Black | | Yel | White | | Dark blue | White |
| | | | | | | | | | | | | | |
| A DDD OV | ٨١ | PCSC - V | 'olle | eyball | | | | | | | | | |
| APPROV | AL | CSC Men | nbe | r | | | | | | | | | |

CITY: EDMONTON - CANADA

REGISTERED COLOURS (ONLY SHIRT COLOUR)

| DATE: | D | М | Y | TIME | Н | Min | TEAMS | | | |
|---------|------|---|---|------|-----|-----|-------|--|--|--|
| POOL/PH | HASE | : | | WOME | N'S | | 1 | | | |
| | | · | | | | • | 2 | | | |
| | | | | | | | 3 | | | |

| | MATCH | SCHEDU | LE | | | AMS CHOIC | | CISM E | \ | NCIONI | | | | | |
|--------|-------|----------|--------|------|-------------------|-----------|-------|------------------------|---------|--------|------|---------|-------|-------|-------|
| DATE: | No | Team | | Team | 1 st C | CHOICE | | 2 nd CHOICE | | ICE | | CISIVIL | JEC | JOION | |
| DATE. | INO | Α | | В | Α | | В | | Α | | В | | Α | | В |
| 31 May | W10 | KEN | | USA | White | | Red | | Red | | Blue | | Red | | Blue |
| 1 June | W11 | BRA | | FRA | Yel | | Blue | | Green • | | - | | Yel | | Blue |
| 1 June | W12 | GER | | CHN | Blue | | Red | | Red | | Blue | | Blue | | Red |
| 1 June | W13 | CAN | | KEN | Black | | White | | Red | | Red | | Black | | White |
| APPROV | 'Λ1 | PCSC - V | olleyl | ball | | | | | | | | | | | |
| AFFROV | AL | CSC Mem | nber | | | | | | | | | | | | |

6. Training Schedule

| Training Sche | dule - MENS | Training Sche | dule - WOMENS |
|---------------|-------------|---------------|---------------|
| Date: 31 May | | Date: 31 May | |
| Training | Arena Men's | Training | Arena Women's |
| 0815 - 0930 | CAN | 0815 - 0930 | KEN |
| 0930 – 1045 | USA | 0930 – 1045 | USA |
| 1045 – 1200 | FRA | 1045 – 1200 | BRA |
| 1300 – 1415 | NED | 1300 – 1415 | CHN |
| 1630 – 1745 | CHN | 1630 – 1745 | GER |
| 1745 – 1900 | BRA | 1745 – 1900 | FRA |
| 1900 – 2015 | GER | 1900 – 2015 | CAN |
| 2015 - 2130 | KOR | 2015 - 2130 | KEN |

| Training Schee | dule - MENS | Training Sche | edule - WOMENS |
|----------------|-------------|---------------|----------------|
| Date: 1 Jun | | Date: 1 Jun | |
| Training | Arena Men's | Training | Arena Women's |
| 0815 - 0930 | CHN | 0815 - 0930 | |
| 0930 – 1045 | GER | 0930 – 1045 | USA |
| 1045 – 1200 | BRA | 1045 – 1200 | CAN |
| 1300 – 1415 | KOR | 1300 – 1415 | KEN |
| 1630 – 1745 | CAN | 1630 – 1745 | BRA |
| 1745 – 1900 | FRA | 1745 – 1900 | FRA |
| 1900 – 2015 | NED | 1900 – 2015 | GER |
| 2015 - 2130 | USA | 2015 - 2130 | CHN |

7. Results

| RESUL | .TS | | | | | | | | | | | | | | |
|-------|----------------|-------|------|-----|-----|-----|-----|----------|----------|------------|------|---|-------|--------|-------------------|
| | | | | | | | MEN | N'S Poo | ol "A" | | | | | | |
| N° | Date (d/m/y) | Teams | | Set | | 1 | | I | | set (point | s) 4 | 5 | Total | Points | Time |
| M10 | 30/05/2018 | NED | KOR | 0-3 | 11 | 25 | 15 | 25 | 12 | 25 | | | 38 | 75 | 50 minutes |
| M12 | 30/05/2018 | CHN | CAN | 3-0 | 25 | 13 | 25 | 6 | 25 | 14 | | | 75 | 33 | 1 hour 7 minutes |
| | | | | | | | | | | | | | | | |
| | MEN'S Pool "B" | | | | | | | | | | | | | | |
| N° | Date (d/m/y) | Teams | | Set | | 1 | | Total | Points | Time | | | | | |
| M9 | 30/05/2018 | USA | FRA | 0-3 | 23 | 25 | 27 | 29 | 20 | 3 25 | | 5 | 70 | 79 | 1 hour 15 minutes |
| M11 | 30/05/2018 | GER | BRA | 0-3 | 23 | 25 | 19 | 25 | 20 | 25 | | | 62 | 75 | 1 hour 8 minutes |
| | | | | | | | | | | | | | | | |
| | | | | | | | | | | | | | | | |
| | | | | | | | | | | | | | | | |
| | | | | | | | WOM | EN'S P | ool ''A' | • | | | | | |
| Nº | Date (d/m/y) | Teams | | Set | | 1 | | 2 2 | | set (point | s) 4 | 5 | Total | Points | Time |
| W5 | 30/05/2018 | GER | KEN | 3-0 | 25 | 15 | 25 | 19 | 25 | 17 | Ī | i | 75 | 51 | 1 hour 10 minutes |
| W6 | 30/05/2018 | CAN | BRA | 0-3 | 13 | 25 | 6 | 25 | 14 | 25 | | | 33 | 75 | 1 hour |
| | | | | | | | | | | | | | | | |
| | | | | | | | WOM | EN'S P | ool "B' | • | | | | | |
| N° | Date (d/m/y) | Teams | | Set | | | | | Total | Points | Time | | | | |
| · | | | 7701 | | 2.5 | 1 2 | | | | 3 | 4 | 5 | | | |
| W4 | 30/05/2018 | CHN | USA | 3-0 | 25 | 18 | 25 | 18 | 25 | 15 | | | 75 | 51 | 1 hour 6 minutes |
| i | | | | | | | | | | | | | | | |

8. Rankings

| | | | | | | M | EN'S T | ГЕАМ І | RANKI | NG | | | | | | | | |
|----|-------|--------------------------|-----|----------|------------|----|--------|--|------------|-----------|-----|-----|---|------------|-------|--------|-------------|-------|
| | | | | | | | | | | | | | | | | | | |
| | | | | | | |] | Pool "A | <u>'''</u> | | | | | | | | | J |
| | ~ . | | | Mat | tches | | | | Result | s Details | | | | Sets | | Points | | |
| Rk | Code | Team | Pts | T | W | L | 3-0 | 3-1 | 3-2 | 2-3 | 1-3 | 0-3 | W | L | Ratio | W | L | Ratio |
| 1 | CHN | China | 8 | 3 | 3 | 0 | 2 | | 1 | | | | 9 | 2 | 4.500 | 257 | 192 | 1.339 |
| 2 | KOR | Korea | 7 | 3 | 2 | 1 | 2 | | | 1 | | | 8 | 3 | 2.667 | 254 | 204 | 1.245 |
| 3 | CAN | Canada | 3 | 3 | 1 | 2 | 1 | | | | | 2 | 3 | 6 | 0.500 | 181 | 212 | 0.854 |
| 4 | NED | Netherlands | 0 | 3 | 0 | 3 | | | | | | 3 | 0 | 9 | 0.000 | 141 | 225 | 0.627 |
| | | | | | | |] | Pool "E | 3'' | | | | | | | | | |
| DI | C. I. | T | | Mat | tches | | | | Result | s Details | | | | Sets | | | Points | |
| Rk | Code | Team | Pts | T | W | L | 3-0 | 3-1 | 3-2 | 2-3 | 1-3 | 0-3 | W | L | Ratio | W | L | Ratio |
| 1 | BRA | Brazil | 9 | 3 | 3 | 0 | 3 | | | | | | 9 | 0 | 0.000 | 225 | 145 | 1.552 |
| 2 | GER | Germany | 6 | 3 | 2 | 1 | 2 | | | | | 1 | 6 | 3 | 2.000 | 212 | 186 | 1.140 |
| 3 | FRA | France | 3 | 3 | 1 | 2 | 1 | | | | | 2 | 3 | 6 | 0.500 | 190 | 220 | 0.864 |
| 4 | USA | United States of America | 0 | 3 | 0 | 3 | | | | | | 3 | 0 | 9 | 0.000 | 153 | 204 | 0.750 |
| | | | | | | WO | | S TEAN Pool '' <i>A</i> | | XIII G | | | | | | | | |
| Rk | Codo | Team | | Mat | tches | | | | Results | s Details | | | | Sets | | | Points | |
| RK | Code | Team | Pts | T | W | L | 3-0 | 3-1 | 3-2 | 2-3 | 1-3 | 0-3 | W | L | Ratio | W | L | Ratio |
| 1 | BRA | Brazil | 9 | 3 | 3 | 0 | 3 | | | | | | 9 | 0 | 0.000 | 225 | 92 | 2.446 |
| 2 | GER | Germany | 6 | 3 | 2 | 1 | 1 | 1 | | | | 1 | 6 | 4 | 1.500 | 208 | 210 | 0.990 |
| 3 | CAN | Canada | 3 | 3 | 1 | 2 | 1 | | | | 1 | 1 | 3 | 6 | 0.500 | 192 | 220 | 0.873 |
| 4 | KEN | Kenya | 0 | 3 | 0 | 3 | | | | | | 3 | 0 | 9 | 0.000 | 122 | 225 | 0.542 |
| | | | | | | | | | | | | | | | | | | |
| | | 1 | | | | | | Pool "E | | - | | | l | Q . | | | | |
| Rk | Code | Team | Pts | Mat T | tches W | L | 3-0 | 3-1 | Results | S Details | 1-3 | 0-3 | W | Sets L | Ratio | W | Points L | Ratio |
| 1 | CHN | China | 6 | 2 | 2 | 0 | 2 | 3-1 | 3-4 | 2-3 | 1-3 | 0-3 | 6 | 0 | 0.000 | 153 | 98 | 1.561 |
| 2 | FRA | France | 2 | 2 | 1 | 1 | | | 1 | | | 1 | 3 | 2 | 1.500 | 161 | 187 | 0.861 |
| 3 | USA | United States of America | 1 | 2 | 0 | 2 | | | | 1 | | 1 | 2 | 6 | 0.333 | 160 | 189 | 0.847 |
| | | | | | | | | | | | | | | | | | | |